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QUESTION 1

You havecreated a group GroupA with JOB MAXIMUM of 4, which statement is true? 

A. No more than 4 users can be assigned to GroupA. 

B. If users in GroupA submit more than 4 queries they will fail. 

C. If users in GroupA submit more than 4 queries, then they will queue in order. 

D. The job maximum cannot be less than the default concurrent query limit of 48. 

Correct Answer: C 

 

QUESTION 2

What are two considerations for usage of materialized views? (Choose two) 

A. Materialized views are not supported. 

B. Materialized views are logical entities. 

C. Materialized views may improve query performance. 

D. Materialized views are the same as database views. 

E. Materialized views are considered for usage by the Optimizer. 

Correct Answer: CE 

 

QUESTION 3

When doing a CREATE TABLE, constraints can be specified at the column level. Which two constraints are NOT
automatically enforced via the database? (Choose two.) 

A. NULL 

B. UNIQUE 

C. NOT NULL 

D. PRIMARY KEY 

E. DEFAULT value 

Correct Answer: BD 

 

QUESTION 4
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After performing a groom on a clustered base table, which statement is true? 

A. The table is redistributed on the ORGANIZE ON clause. 

B. The table is reorganized on the ORGANIZE ON clause. 

C. The table is reorganized on the DISTRIBUTE ON clause. 

D. The table is redistributed on the DISTRIBUTE ON clause. 

Correct Answer: B 

 

QUESTION 5

Which is NOT a function of the FieldProgrammable Gate Arrays (FPGA) residing on the Netezza Database Accelerator
card? 

A. Projects 

B. Restricts 

C. Aggregates 

D. Decompresses 

Correct Answer: C 
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